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Multiplication Word Problems

4-Digit by 1-Digit: S1

SAlbert and his family go on a trip to Australia, and the !ight tickets cost     2,328 per

person. What is the total airfare if there are 5 members in Albert’s family?

3)

Our state has 4 soccer stadiums that seat 9,950 people each. How many people do the

stadiums seat altogether?

2)

An organization now employs 5 times more people than it did before. If there were

6,208 employees before, how many people work at the company now?

4)

Catherine, a fashion designer, uses 3,540 sparkling gemstones to create an extravagant

dressing gown. How many gemstones will she need to make 6 such gowns?

5)

If one large box contains 2,150 jelly beans, how many jelly beans do 8 boxes contain?1)

A cultivator sells 4,835 packets of oyster mushroom. If each packet contains

9 mushrooms, how many mushrooms did the cultivator sell in all?

6)
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